Attachments

Piping Adapter
M5 X 0.8, 1/g, 1/4, 3/g, 1/, 3/4, 1

Easy maintenance. Makes it possible to attach and detach equipment
without removing piping.

|

= To order piping adapter with bracket, the parts number as shown below.
(Example) With L type bracket: ECIOL-]

With T type bracket: ECJOT-00
=% One with AC installed is special product.

Piping adapter /

-

T Type Interface: (T)
M5 X 0.8, 1/g, 1/4, 3/g, 1/>

Makes it easy to diverge air out with T type interface.

5 .
—

T type interface

Y4l

I
|| T type interface

Model File
Y11-M5 SAC1000, #9
Y21-01, 02 SAC2000, #9
Y31-01, 02 SAC2503, #9
Y41-02, 03 SAC4000, #9
Y51-02, 03 SAC4006, #9
Y61-03, 04 SAC5000, #9 iy

Port size
T
—— '/h.\ S
N =
J - L
A B

Model Port size | A B C Applicable model

AC10000, Aw1000
E10-M5 |M5X0.8| 16 | 14 |17.5 AF1000, AR1000, AL1000

E20-0001 Us AC20010

E20-[102 Y 23 | 22 | 22 | AF2000, AR2000, AW2000

E20-0003 3l AL2000, AFM2000, AFD2000

E30-0102 Ya AC2500, AC30000

E30-003| ¥ | 2° | 22 |342] Ar3000, AR3000, AW3000

E30-0104 ) 40 | 29 |34.2|AL3000, AFM3000, AFD3000

E40-0102 1y

E40-0003| s 33 | 35 |42.2 |ACAOLI0

Ed0-004| AF4000, ARA000, AW4000

E40-0106 34 50 | 35 (222 AL4000, AFM4000, AFD4000

3 AC4000-06
E50-006 /4 36 | 44 | 46.2 | AF4000-06, AR4000-06, AWA000-06
AL4000-06, AFM4000-06, AFD4000-06

AC5000, AC5500, AC6000

- 3
S & AC5020, AC5520, AC6020

40 | 54 155.2| xr5000, AR5000, AL5000

E60-0J10 1 AF6000, AR6000, AL6000

Note 1) O in part number indicates thread type. Use nothing for Rc(PT), N for
NPT and F for G(PF).

Port size

JF.R.L. Body center

Model Portsize | A |OB| C Applicable model

Y11-M5 |[M5X0.8| 8 8 | 12 | AC1000, AC1020

- 1
Y2L-0O01, /s |45 | 19 | 29 | AC2000, AC2020, AR2030

Caution on Assembling

Y21-0102 1y
AC2500, AC2520, AC2530

Y31-0001 /g
Y31-0002 Y AC3000, AC3020, AC3030

11 | 19 | 33

Y41-0002| s
VAT Dos |3 14 | 24 | 39 |AC4000, AC4020, AC4030
Y51-0002| U AC4000-06, AC4020-06
v51-0003| s | 4 | 24 | 41 | AC4030-06

- 3
Y61-003] % | 1o | a5 |05 | AC5000, AC5500, AC6000

Y61-0104 ) AC5020, AC5520, AC6020

o T type interface cannot be mounted at IN/OUT side of AW or upward handle
of AR.

O When T type interface is used at IN side of lubricator, oil may have entered.
Use check valve series AKM.

1.1-17

= When T type interface with bracket is required, order as example below.

(Example) With L bracket: YO1L-O
With T bracket: YO1T-0O
«x Refer to a table of attachment on P.1.1-3 for standard port size when
applying to AC.
w4 [ in part number indicates thread. Use nothing for Rc(PT), N for NPT
and F for G(PF).



F.R.L. Unit Series AC
Attachment Specifications

Piping Adapter (E)
M5 x 0.8, 1/8, 1/4, 3/8, 1/2, 3/4, 1

A piping adapter allows installation/removal of the component

Port size
without removing the piping and thus makes maintenance easier.
IEF @
\. Center of
F.R.L. body
Lal Lo

Model N°¢)| Portsize | A | B | D Applicable model
E100-M5 | M5x0.8 | 10 | 14 14 |AC100], AW10, AF10, AR10, AL10
E200-101 1/8 AC200]
E200-102 1/4 30 [23.5| 28 |AF20, AR20(], AW20(I

T - E200-103 3/8 AL20, AFM20, AFD20, AWM20, AWD20

Piping adapter T ~ 3 ¥ E300-102 1/4 AC250], AC30C]
E300-[103 3/8 32 |30 30 |AF30, AR30C], AW30(]
E300-0104| 12 AL30, AFM30, AFD30, AWN30, AWD30
E400-102|  1/4 AC400]
E400-[103 3/8 3 |36 36 AF40, AR40C], AW40C1
E400-C104 1/2 AL40, AFM40, AFD40
E400-L106 34 AWM40, AWD40
AC4003-06, AF40-06, AR40L1-06, AW40C-06

ES00-L106|  3/4 | 32 140 | 44 1) /4006, AFMAO-06, AFDAO-O6
E600-106 3/4 35 |48 53 AC50, AC55, AC60, AC50B, AC55B, AC60B
E600-[110 1 AF50, AR50C], AL50, AF60, AR60C, AL60

Notes) ¢ OJ in model numbers indicates a thread type. No indication is necessary for Rc;
however, indicate N for NPT, and F for G.

. * Separate interfaces are required for modular unit.
T Intel‘face (T) = Factory mounting of a piping adapter on the AC models is available as a special order.
M5 x 0.8, 1/8, 1/4, 3/8, 1/2

Using a T-interface facilitates the redirection of air flow.

E
Octagon Port size
T-interface © >

alig Center of
I F.R.L. body
. D

Model Portsize | A B (o] D E |Applicable model
Y110-M5 | M5x08 | 11 | 19 | 12 | 14 8 |AC10,AC10B
Y210-101 1/8 AC20, AC20B
15 | 42 | 32 | 28 | 19 ’
Y210-102 1/4 AC20C
Y310-J01 1/8 AC25, AC25B
15 | 53 | 39 | 30 | 19 |AC25C, A
Y310-0102| 1/4 Agsgg: Agggc
Y410-102 1/4 19 | 62 | 44 | 36 | 24 AC40, AC40B
Y410-C103 3/8 AcC40C
tion in Mountin - . ¥
Cautio ou g Y510-0102| 1/4 19 | 66 | 46 | 44 | 04 |ACH0-06 AC40B-06
. . . . . Y510-103 3/8 AC40C-06
o |f a T-interface is used on the IN side of the lubricator, lubricant ACEOACEE
may be mixed. Use the series AKM check valve to avoid such Y610-0103 3/8 22 | 81 | 57 | 53 | 30 |AC60, AC50B
possibility. Y610-[104) 172 AC55B, AC60B

Notes) * (1 in model numbers indicates a thread type. No indication is necessary for Rc;
however, indicate N for NPT, and F for G.

» Separate interfaces are required for modular unit.

= Refer to the attachment table on Front matter 2 for standard port sizes when using with AC.

SVIC

O



Modular Air Components Attachments & Accessories

T-Type Spacer

M5x0.8, 1/801/4¢3/8+1/2

Port size

© :
.
— 1O
|
T-type spacer LA /
/ F.R.L.center
Port .
Model S A B © Applicable model
31|.31 | .47

Y11-M5 |M5x0.8| 2% | - 7y [NAC1000- NAC1020
®) | (® | (12)

Y21-NO1| 1/8 | 39| 75 [ 1.14
Y21-N02| 1/4 |(10) [(19) ]| (29)

Y31-NO1| 1/8 | .43 | .75 | 1.30 [NAC2500 NAC2520° NAC2530
Y31-N02| 1/4 |(11)[(19) | (33) [NAC3000- NAC3020° NAC3030
Y41-NO2| 1/4 | 55| 94 | 1.54
Y41-NO3| 3/8 |(14)[(24)| (39)
Y51-NO2| 1/4 | 55 | .94 | 1.61 [NAC4000-NO6¢ NAC4020-N06
N , o Y51-N03| 3/8 |(14)|(24) | (41) [NAC4030-N0O6

**When T-type spacer with bracket is required, please order as follows.

Example: L-type bracket:YOIL-NOO Y61-NO3| 3/8 | 59 [1.18( 1.99 [NAC5000- NAC5020° NAC5500
T-type bracket:YOIT-NOO Y61-N04| 1/2 |(15)|(30)|(50.5)|NAC5520° NAC6000- NAC6020

NAC2000- NAC2020- NAC2030

NAC4000- NAC4020+ NAC4030

Cross Spacer

M5x0.8,1/8¢1/4¢3/8¢1/2

+H.L. Body center Port size
| E

T ’%‘E
oo FLTANN [T

. )
| E
R A J D

E: 4-port size
F: No thread

D
m

Model |[Port size| A B © D Applicable model

91 | 63 | 55 98
Y14-M5 M5 % 08| (o | (16 | (1a) | (25)
Y24-NO1 | 1/8 |157|1.57| .87 |1.57 [INAC2000- NAC2010- NAC2020
Y24.N02 | 1/a | (40) | (40) | (22) | (40) [NAC2030+ NAC2040

NAC2500 NAC2520° NAC2530

Y34-NO1 | 1/8
1.9311.6911.10 | 1.89 Iy A c3000- NAC3010+ NAC3020
Y34-NO2 | 1/4 | (49) | (43) | (28) | (48) |NAC3030° NAC3040

NAC1000+ NAC1010- NAC1020

Y44-NO2 | 1/4 |2 36(1.89|1.42 |2.13 [NAC4000- NAC4010- NAC4020
Y44.N03 | 3/ | (60) | (48) | (36) | (54) [NAC4030° NAC4040

Y54-N03 | 3/3 NAC4000-N06+ NAC4010-N06

2.83|2.44|1.57 | 2.44
NAC4020-N06+ NAC4030-N06
Y54-N04 | 1/2 | (72) | (62) | (40) | (62) |NAC4040-NOB

% S\C 87
Return to Menu €= =¥



Attachments & Accessories

Modular Air Components

Spacer with L type bracket

L type bracket

I ) ™
— \ELL__center
LA
Inch (mm)

Model A Applicable model

Y10 .31 (8) NAC1000 ~ NAC1020

Y20 .39 (10) |NAC2000 ~ NAC2040

NAC2500 ~ NAC2540

Y30 43 (11)  INAC3000 ~ NAC3040

Y40 .55 (14) |NAC4000 ~ NAC4040

Y50 .55 (14) |NAC4000-N06 ~ NAC4040-NO6
Y60 59 (15) NAC5000, NAC5500, NAC6000

NAC5020, NAC5520, NAC6020

Spacer With L-type Bracket

Spacer with

\ L-type bracket

L-type bracket

F.R.L.center

Inch (mm)
L-type |[Spacer with L- .
Bracket | type Bracket A B © D E F G R L Applicable model
79 | 47| .18 | 12 | 98 | .20 | .31 | .09 | 1.06
B110L Y10L NAC1000~NAC1020
s 22 [ 2 18] 20 39 AL 130
B210L Y20L ’ _ : ) . ) 3 , : NAC2000~NAC2040
(24) 1 (15) | (55| (3) | (30) | (B) |(10)|(2.75)| (33)
B310L Y30L 1.38| .63 | .28 | .16 | 1.61 | .28 | .43 | .14 | 1.77 INAC2500~NAC2540
(35 | (6) | () | 4 | 41) | (7) [(11)[(3.50)| (45) INAC3000~NAC3040
157 | .87 | .35 | .16 (197 | .28 | .55 | 1.18 | 1.97
B410L Y40L NAC4000~NAC4040
(40) (%2) (3?) (4% (58) (27% 14) (4-58) (58)
157| .87 | .3 | .1 1.97 | . .55 | 1.18 | 1.97
B510L Y50L NAC4000-NO6~NAC4040-N0O6
(40) 1(22) | (9) | (4) | (50) | (7) [(14) | (4.5) | (50)
B610L Y60L 197 | .94 | .47 | .16 [ 2.76 | .39 | .59 | .24 | 2.46 [NAC5000° NAC5500+ NAC6000
(50) | (24) | (12) | (4) | (70) | (10) [ (15)| (B) |(62.5)|NAC5020 NAC5520 NAC6020

o
3

Return to Menu

-



Modular Air Components Attachments & Accessories

Spacer with T-type Bracket

| Spacer with T type bracket
ml \ \ [/ T type bracket
w6\
1.
- % e r‘s(‘i{?‘} FA.L Body center
I + 'f}""—'ﬁ' (Kl}\\ z
LAl Ld&GM
< [ e
B o -
Spacer with T-type Bracket T-type Bracket _i’ t 1
C Fl,
LB . E -
Inch (mm)
T-type Spacer with
Bracﬁet T-type A|lB|lc|D|E|F|G|H|R|L Applicable model
Bracket
B110T Y10T 79 | .47 | .18 | .12 98 20| .31 |157| .09 | 1.06 NAC1000~NAC1020

20) |12 | @5 @ | @5 | 5) | © | @0 |e.25)] 27)
94 [ 59 | 22 [ 12 [1.18] .20 [ .39 [1.89] 11 [1.30

B210T Y20T ; ; ' : ' NAC2000~NAC2040
(24) | (15) | (5.5)| (3) | (30) | (5) | (10) | (48) |(2.75)| (33)

B310T V30T 138 .63 | 28 | .16 | 1.61 | .28 | .43 [2.76| .14 | 1.77 [NAC2500~NAC2540
35 [(16)| @) | @ | @1 | 7 [@1) ] (70) [(3.50)| (45) [NAC3000~NAC3040
157 .87 | .35 | .16 | 1.97 | .28 | .55 [3.15| 1.18 | 1.97

B410T Y40T NAC4000~NAC4040
(40) (éZ) (é?) (4% (58) (27% 14) §80) (4-5§ (58)
157 .87 | .35 | .16 | 1.97 | .28 | .55 |3.15| 1.18 | 1.97

B510T Y50T NAC4000-N06~NAC4040-N06
(40) [(22) | (9) | (4) | (50) | (7) |(14)](80) | (4.5) | (50)

ST N — 1.97| .94 | .47 | .16 | 2.76 | .39 | .59 [3.94| .24 | 2.46 [NAC5000- NAC5500+ NAC6000

60) | 24| 12) | @ | 70) | 20)| 15)[(200)| (6) [(62.5)|NAC5020+ NAC5520+ NACE020

% S\VC 89
Return to Menu €= =¥



Spacer (X)

Series AC Spacers and Brackets

Accessories

Center of
F.R.L. body

XTX
Y200 Y400
Model | A B c D Applicable model I
Y100 6 27 15 33 | AC10,AC10A, AC10B "i
Y200 3 35.5 18.5 48 | AC20[]
Y300 4 47 26 59 | AC25[1, AC30[]
Y400 5 57 31 65 | AC400] A,
Y500 5 61 33 70 | AC40[1-06 Spacer width
AC50, AC55, AC60
R 86 | AC50B, AC55B, AC60B
Replacement parts
Description Material Part no.
Y100 Y200 Y300 Y400 Y500 Y600
Seal HNBR Nete2) |Y100P-060AS Y|  Y200P-060S Y300P-060S Y400P-060S Y500P-060S Y600P-060S
Note 1) Y-100 comes with 2 O-rings.
Note 2) NBR seal is used for Y100 spacer because of no direct contact with fluid.
Spacer with Bracket (Z)
Al
A
{7 Center of
T F.R.L. body
O =
w S
o
c H .
S 4 =}
gjw S
A .
z 1 Sv |
[ I i
w I A,
F,
H | e K '
D i Spacer width
Model | A B BB | C D E EE F G oG H J K Applicable model
Y100T| 6 — 56 | 245 | 40.5| 20 27 6.8| 45 45| 14 2.8 25 |AC100]
Y200T| 3 — 67 |29 53 24 33 | 12 5.5 55| 19 3.2 30 |AC200]
Y300T| 4 82 | — |41 68 35 — | 14 7 7 21 | 4 41 |AC25[], AC30]
Y400T| 5 96 — |48 81.5| 40 — 18 9 9 26 4 50 |ACA40[]
Y500T| 5 96 — | 48 86 40 — 18 9 9 27 4.6 50 |AC40[1-06
Y600T| 6 120 — |60 112 50 — | 20 11 11 31 6.4 70 |AC50, AC55, AC60, AC50B, AC55B, AC60B
Replacement parts
D inti Material Part no.
escription ateria Y100T Y200T Y300T YaooT Y500T Y600T
Seal HNBR Note2 |Y100P-060AS |  Y200P-060S Y300P-060S Y400P-060S Y500P-060S Y600P-060S

Note 1) Y-100T comes with 2 O-rings.

Note 2) NBR seal is used for Y100T spacer because of no direct contact with fluid.

O

SVC

18



Attachments

Cross Interface

M5 X 0.8, 1/g, 1/4, 3/g, 1/2

Make it possible to diverge piping in all directions.

Cross interface

CAD
F.R.L. Body center Port size
E
Note) IN/OUT port is not machined for thread piping. ﬁ/ﬂi
H 0o k} E
Cross interface k—/
Model File
Y14-M5 SAC1000, #10 E
Y24-01, 02 SAC2000, #10 D
Y34-01, 02 SAC3000, #10
Y44-02, 03 SAC4000, #10 E: 4-RC(PT)
Y54-03, 04 SAC4006, #10 F: Without thread
Model Portsize | A B | C | D Applicable model
Y14-M5 M5 23 116 | 14 | 25 | AC1000, AC1010, AC1020
Y24-C101 s AC2000, AC2010, AC2020
Y24-002 i, | 40|40 2240 aco030 AC2040
Y34-0101 A AC2500, AC2520, AC2530
AC3000, AC3010, AC3020
Y34-02 s 4943|2848 AC3030, AC3040
Y44-102 Y AC4000, AC4010, AC4020
Y44-003 3% | 00|48 36| 54| Ac4030, AC4040
Y54-0103 3 AC4000-06, AC4010-06
Yscos |, 7262|490 62| AGHB0GIACH00S

Residual Pressure Exhaust 3 Port Valve: (V)

Residual pressure exhaust 3 port valve makes it easier to exhaust pressure.

Residual pressure exhaust 3 port valve

Note 1) O in parts number indicates thread. Use nothing for Rc(PT), N for NPT
and F for G(PF).

Caution on Assembling

OWhen mounting directly onto the IN side of lubricator, use check valve series

AKM between th

e interface and lubricator.

Olnstallation to AC will be available as a special product. Please consult SMC.

Plug J% | S
(VHS3000, [ i
4000 only) i L
. O - i
T~ T q 14
| —— | S E— _ |f —_‘_\F' -
] % [ \
I R >\i_ H
Specifications Ll
. Effective area (mm?) &EXH !
Mode Port size INto OUT | OUT to EXH A
s 10 11 D
VHS2000 Y 14 16 Port size
Ya 16 14
VHS3000 A a1 29
Ya 22 15
VHS4000 %8 38 29 IN/JOUT EXH
) 57 51 Model | port'size | Portsize| A | B | C | D | E | F
Note) Use air filter on the IN side to protect operation. VHS2000 1/8, 1/4 1/8 20 56 36 28 22 25
How to Order VHS3000 | %4, % Ya 53 | 74 | 45 [ 48 [ 28 | 30
(1)
VHS 30 00 _| 02 VHS4000 | Y4, %8, V2 38 70 | 80 | 48 | 54 | 36 | 30
Note 1) NOT applicable to AC40[10-06.
1 1 \ Caution on Assembling |
Residual pressure Port size Pressure switch and T type interface can not be mounted to OUT side of
exhaust 3 port valve 01| g residual pressure exhaust 3 port valve.
Body size 02| s U
20 | s 03| 38 Residual pressure exhaust 3 port valve
30 | s 04| Y% Model File
40 s VHS2000 SAC2000, #11
Thread VHS3000 SAC2503, #11
— Rc(PT) VHS4000 SAC4000, #11
N NPT
F G(PF)

1.1-21




Series AC

Check Valve (K)
Rc1/8, 1/4, 3/8

A check valve with intermediate air release port can be easily A
installed to prevent a back flow of lubricant when redirecting the air
flow and releasing the air on the outlet side of the regulator.

O Ky  lof—
— |
I_i. . lheck vajllve \ i /

Bypass port size for

JIS symbal E i/ redirecting air flow
30 —
i [ i |
| P | i
N9 b L b ouT,
Specifications QT ] |
Model Effective area (mm2) ! i
AKM2000 28 \
AKM3000 55 =
AKM4000 111 Model | offeses| A | B | C | D | E | Applicable model
Bo sure lo use above check valves when AKM2000 [ 1/8, 1/4 | 40 [ 40 [ 28 [ 11 | 11 | AC20, AC20A
redirecting the air flow on the inlet side of the AC25. AC25A
lubricator. Threads for IN and OUT ports are 1/8, 1/4 4 4 | 14 | 1 ’
not machined. IR 22 Sk & AC30, AC30A
AKM4000 | 1/4,3/8 | 70 | 54 | 42 | 18 | 15 | AC40, AC40A Note)
How to Order Note) Not applicable to AC403-06.

* Refer to the attachment table on page 1 or 5 for standard bypass port sizes

A ll(M 30 00 — 01 applicable to AC.

Check valve I Bypass port size for

Body size redirecting air flow
mmm Symbol :c;: 2OBOd:;I Osize40
o1 (18| @ | ® | —
022 ([1/4| @ | @ | @
[

03 38| — | —
Thread type
Nil Rc
N NPT
F G

15

O
:



Series AC

3-Port Valve for Residual Pressure Release (V)

With the use of a 3-port valve for residual pressure release, pressure left in the line can
be easily exhausted.

3-port valve for
residual pressure rel

JIS symbol f Y
E Lockable at the time of exhaust
|
nala \ =\ €
T T D
13
Specifications (P) (R) —
e Port size Effective area (mm?) ( )Effective Area mm? (Cv)
(o]
e INOUT | EXH. | INto OUT | OUT to EXH.
VHS20 1/8 8 10 (0.54) 11 (0.60) [Sur] ‘5
1/4 14 (0.76) 16 (0.87)
. <
VHS30 1/4 4 16 (0.87) 14 (0.76) our
3/8 31 (1.68) 29 (1.57) |
1/4 27 (1.46) 36 (1.95) || L
VHS40 3/8 3/8 38 (2.06) 40 (2.17) o
1/2 55 (2.98) 42 (2.28) Ll
VHS40-06 3/4 1/2 77 (1.73) 49 (2.66) EXH
" .
VHS50 3/ i 82 (4.44) 50 (2.71)
1 125 (6.78) 53 (2.87)
Note) Use an air filter on the IN side for operating protection.
Model A B C D E F G H |
HOW to Order VHS20 59 | 20 | 40 | 34 — 45 33 | 28 | 45
VHS30 78 | 29 | 53 | 46 - 55 42 30 | 55
VHS 30_F 03_RZ VHS40 107 | 39 | 70 | 63 | 22 | 58 | 44 | 36 | 63
VHS40-06 | 110 | 42 75 | 67 21 65 50 | 44 | 69
3-port valve forl VHS50 |134 | 53 | 90 | 78 | 26 | 76 | 61 | 54 | 81

residual pressure

release
Body size
Symbol|  Applicable model
20 AC20
30 AC25,30
40 AC40
50 AC50, AC6QNote)

Note) When the valve is mounted on
ACB60, the flow rate may decrease
depending upon the mounting
position.

17

Thread type ™
Nil Rc
N NPT
F G
Port size
. Body size
Symbol| Port size 20 | 30 | 40 | 50
01 1/8 vl | — | — | —
02 1/4 vl| vi| vl | —
03 3/8 — | vo| vOo| —
04 1/2 — | — v | —
06 3/4 — | — [ vO| v
10 1 — | =1 =10
0

1. Consult SMC when a pressure switch and T type spacer
are installed on the outlet of pressure release valve

2. If a stop valve or a silencer is connected to the exhaust
port of VHS20/30, the effective sectional area should be
larger than the figure indicated in the following table, to
prevent malfunction caused by back pressure. (This is
not applicable to VHS40 and VHS50)

Model Effective area (mm?2)
VHS20 5
VHS30 5

Optional specifications
Code Description
R Flow direction: Right to left
Z Note 1) | Name plate in imperial units (PSI, °F)

Note 1) This product is for overseas use only
according to the new Measurement Law.
(The SI unit type is provided for use in
Japan.)

O
3



